( 5) Today

Sections 1.5-1.10
Valence Bond Theory

Skipping Section 1.11 for now
An introduction to Molecular Orbital Theory

Sections 1.12
Drawing Chemical Structures

( 7 ) Second Class from Today

Sections 2.1 -2.4
Polar Covalent Bonds, Formal Charges,
Resonance/Electron Delocalization

Sections 2.4 -2.6
Resonance/Electron Delocalization

Next Class (6 )

Sections 1.12
Drawing Chemical Structures

Sections2.1-24
Polar Covalent Bonds, Formal Charges,
Resonance/Electron Delocalization

Third Class from Today ( 8 )

Sections 2.4 -2.6
Resonance/Electron Delocalization

Sections 2.7 - 2.11
Acids and Bases
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The methyl cation, anion, and radical
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Determine the hybridization of unusual molecular fragments



Single bonds, lone-pair electrons, and hybrid orbitals Sections 1.5-1.10

* hybrid orbitals are used to form o bonds and to hold lone-pair electrons
* in the valence bond model, single bonds are always o bonds

. doluble and triplc‘a bonds are formed from o bonds plus 1 bonds

g+ 10 O « T+
How to determine hybridization:

# of hybrid orbitals needed = # of o bonds + pairs of lone-pair electrons
or
# of hybrid orbitals needed = # number of directions electrons must be pointed in

b/ valyace srbidals

count out the # of atomic orbitals need to make the hybrid orbitals
starting with the 2s orbital

name the hybrid orbitals sp” where n is the number of p orbitals used



Practice: Determine the Hybridization of the Atoms in the Following Molecules
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